Nwmeriad Wethod / Ewlert flethod (Scaﬁrm 7.1)

G o e i
w Bulers Wethal (pronownrced “ Oilers ") ic used to approxinate
o CBIVE usinﬁ Jocod tinwi{y.
STEPS
(D Must have an initial condition
@ W %L b fid He clope at fhat pomt.

& Incrense % by o small amount [4x) o obtain a new pomt

% dy= 4 Ax (xed, yriy)
@ Keep repeating skeps 243 until you reach He x-condivade
Jw are looking for.

% I Ax i€ () yndre movig 1o He vight
£ Ax 1§ ) // gu're m»\\//]:\% fp He ‘?Ieﬁ:.

ex: %:xw £l2)=0 Use Eulers methd # Ax=.2 4 apprx {(3).
% TRBLE mETHD:

. dy
Pint %=Xy AX m New Point: (5+Ax,;y+zlll

Czt D) 240=2 -2 2(:2)=.4 - (2.2, 4)
(22,4) 22+4= 2.6 2 26(-2)-.52 (2.4 .92)
L4 42)  24+Be3E 2 32(2)=. b (2., 1.584)

(20 158) 2o+ 1SU4IY .2 4lgy(2)=.8868  (2€, 24208)
(24,20008)  2.442428- 52k -2 5. 208(2)= 1016 (3.0, 34490)

/:'j (3) 2 345 7




# Equatn of o line wethod Y=y, + #3.y,) 1o

. l—- d
o y'= Xy (o) = 1+ (0G0
j(ﬁ)’—l ="‘-l :.q
dx=.1 (1,9 y= 24 (=)0
ApproX £(-3) ’ y1 =.q- 08 =.82
(2,.%) ¥; ™ 02+ (2-.22)(1)
= $2-.0b2 =158

(4 78) 1) w758

%4 st which evtr wethod makes sonse %(you.’” /U&w
Hpl ﬁc yad a) (2,3) ¥is 3+ C?.@-)-—D(-—.l‘):—‘- 3-.3 = 2.1
{(z)=2 (19,2.7) Y= 2.1+ (2(!-‘1)'7)(—3} 2.7-.28= 242
Ax="1 (18,242)  y,= 2424 [ZU-!)"]@!) - 242- .26 = 2:1l
F-6)=7 (17,218 Y47 200 + [20)-4)Gr)= 210-24 =192

(16, 1.92) [W

b) y=xz~xf—c — 3=2424C
c=l

y;xze—xﬂ
-F[l.b):!,?(a %W.; M—Z——»:.DZ

#714) [yt = —

jy'=fbxz+4x+c




